





































 A useful technique is to expand each term until it includes one instance of each variable (or its compliment). It may be possible to simplify the expression by cancelling terms in this expanded form e.g., to prove the absorption rule:

$$a+a.b = a$$

$$a.b+a.\overline{b} + a.b = a.b+a.\overline{b} = a.(b+\overline{b}) = a.1 = a$$







DeMorgan's Examples

• Simplify $a.\overline{b} + a.(\overline{b+c}) + b.(\overline{b+c})$ = $a.\overline{b} + a.\overline{b}.\overline{c} + b.\overline{b}.\overline{c}$ (DeMorgan) = $a.\overline{b} + a.\overline{b}.\overline{c}$ (b. $\overline{b} = 0$)

 $=a.\overline{b}$ (absorbtion)









